
SAP ABAP table VIWB01 {Teile der Hauptwirtschaftlichkeitsberechnung}

VIWB01

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

SWBIND [CHAR (8)]

I_SWBIND [CHAR (8)]

STAT2 [NUMC (1)]

NUTZKAT [NUMC (1)]

ZWECK [NUMC (3)]

 VIWB01-I_SWBIND = VIWB01-SWBIND 
0..N1

T000

MANDT [CLNT (3)] VIWB01-MANDT = T000-MANDT 
0..N

1

TIVWB01

MANDT [CLNT (3)]

STAT [NUMC (1)]
 VIWB01-STAT2 = TIVWB01-STAT 0..N

1
TIVWB02

MANDT [CLNT (3)]

NUTZKAT [NUMC (1)]

 VIWB01-NUTZKAT = TIVWB02-NUTZKAT 
0..N1

TIVWB04

MANDT [CLNT (3)]

ZWECK [NUMC (3)]

 VIWB01-ZWECK = TIVWB04-ZWECK 

0..N

1

VIWB00

MANDT [CLNT (3)]

SWBNR [CHAR (8)]

 VIWB01-SWBNR = VIWB00-SWBNR 

0..N

1


